
FI Säätöputken kiinnityssarja DE Befestigungssatz

SV Pelarmonteringssats FR Kit de fixation montants

EN Fixing set upright ES Kit para barra perforada

M
A

X
 1

00
kg

M
A

X
 1

00
kgQuick assembly video

M8 x 10

M8 x 70

M8 x 16

M8 x 70

TP

Concept

ASSEMBLY INSTRUCTION

Treston Oy Head office
Sorakatu 1, FI-20730 TURKU
Tel. +358 10 4469 11
sales@treston.com   treston.com

For detailed contact information, please visit: 
https://www.treston.com/contact-us

900714
2019-08-14

1 (2)



848 336

851 827

M6 x 12

M6 x 12

ASSEMBLY INSTRUCTION
900714

2019-08-14
2 (2)


